Econ 1102: Practice Problems 5 Solution                                                                                          ©Gina Pieters 


Practice Problems 5
a) Interest rates increase, loans decrease.

b) Interest rates increase, loans decrease.

c) Interest decrease, loans increase.

i)  (loan up, interest down), Supply shift

ii)   (loan down, interest up), Supply shift

iii)  (loan down, interest down), Demand shift

iv)   (loan up, interest up), Demand shift

v)   (loan down, interest up), Supply shift

vi) Elasticity will change the responsiveness of amounts to the various shifts. 

d) Y=100*(1+0.10)^1 = $110

e) Y=100*(1+0.10)^5 = $161.05

f) Y=100*0.20*(0)+100*0.15*(1)+100*0.60*(1.02)+100*0.05*4 => 0+15+61.2+20=96.2

g) 102=PV*(1+0.02)^1   ,    PV = $100

h) 500=PV*(1+0.05)^3  ,       PV = $431.92

a. $300 
b. $200

c. $400

d. -$200
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